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Two small spherical metal balls, having equal
masses, are made from materials of densities
p; and Py (Pl = 8p2) and have radii of

1 mm and 2 mm, respectively, They are made
to fall vertically (from rest) in a viscous
medium whose coefficient of viscosity equals

N and whose density is 0.1p, . The ratio of
their terminal velocities would be,

39 79
) 7 @ 36
79 19
3) 7 “) 36

*
A particle starting from rest, moves in a circle
of radius '#'. It attains a velocity of ¥ m/s

in the nt? round. Its angular acceleration will
be,

2

1) 4 > rad/s*
dnnr

) 4:22" rad/ s

(3) % rad/s*

@) 2;/22”2 rad/s®

A person standing on the floor of an elevator
drops a coin. The coin reaches the floor in

time # if the elevator is at rest and in time

ty if the elevator is moving uniformly. Then

M) 4>t

@ 4=n

(3) <ty or # >ty depending upon
whether the lift is going up or down

) n<n
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A truck is stationary and has a bob suspended

by a light string, in a frame attached to the

truck. The truck, suddenly moves to the right

with an acceleration of a. The pendulum

will tilt

(1) to the left and angle of inclination of
the pendulum with the vertical is

sin | —
g

(2) to the left and angle of inclination of
the pendulum with the vertical is

tan_1 [5)
a

(3) to the left and angle of inclination of
the pendulum with the vertical is

sin~! (-’g-]
a

(4) to the left and angle of inclination of
the pendulum with the vertical is

-1z

Two metal spheres, one of radius R and the
other of radius 2R respectively have the same
surface charge density ¢ . They are brought
in contact and separated. What will be the
new surface charge densities on them ?

) © ——50' Y ——50
DN 2 73
2) © ——50 c —50'
@ < 37 276
3) © ——50 o —50'
S 6 279

40_20' 0'_20'
4 1=56 2%
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800 Hz smgfa @1 &% @il fags et e
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& U8 T 9% §, § AGAE S Bl & | HANT
ST 1 9&@9r 9.75 em, 31.25 cm 31X 52.75
cm wrTEal WX R T ¥ A F | A g
T

(1) 344 m/s (2) 172 mis
(3) 500 m/s (4) 156 m/s

e (20?+25?—127€J & arg ¥ wean B

fius srame & W #, e werE @ agae
1:5 %, g2 Smar ¥ 1 T OBTET 9Er 4T

(100?+35/j\‘+8@)@r@m% | 9% ST 61 9T
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The distance covered by a particle undergoing
SHM in one time period is (amplitude = 4),
(1 24 2) 44

3) zero 4 4

A mass falls from a height '’ and its time of
fall 't' is recorded in terms of time period T
of a simple pendulum. On the surface of earth
it is found that r = 27. The entire set up is
taken on the surface of another planet whose
mass is half of that of earth and radius the
same. Same experiment is repeated and
corresponding times noted as t' and 7",
Then we can say

(1) '<2T" @) t'=2T"'

@) =27 @) ¢>2T

A tuning fork with frequency 800 Hz
produces resonance in a resonance column
tube with upper end open and lower end
closed by water surface. Successive
resonances are observed at lengths 9.75 cm,
31.25 cm and 52.75 cm. The speed of sound
in air is,

(1) 344 m/s 2) 172 m/s

(3) 500 m/s 4) 156 m/s

An object flying in air with velocity
{20/1'\+ 25?—122] suddenly breaks into

two pieces whose masses are in the ratio 1:5.
The smaller mass flies off with a velocity

[100/1'\+35?+ 8/]2} The velocity of the
larger piece will be,
A A N
(1) 20i+15,-80%
N A A
(2) -20i-15,-80k
A A A
(3) 4i+23j-16k
A A A
4 -100i-35;-8k
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(1) 2k LC (2) 4 LCR
(3) 9 LR (4) 49 RC

0.5 m far % fpdy wmsfebet & ulRg &1 0.1 T
T &% % el & F, o fp akw & 9@ B
w=aa &, 10 rad/s % Frm w3 9 it
HUAT T 3 | ORT &% &% 3K 39! A/ & o9
3= e aes s« § -

(1) 05V 2) =
(3) 025V 4 0125V

ot artEsil ey 1 o wrerRET (W, )

1.0 T fagashear (g,) 1.44 ¥ 3@ wmem o
WABTIT B AT BRI —

(1) 2.08x10% mss
) 432x108 m/s
(3) 2.5%x10% nvs

4 3x10% mss

Rl T ¥ +£3%1070C skt w1 B R

faya smes ¥ 1 59 A § Freem oo ga faga
A fpar ¥ 7

(1) 3x107% Nm¥cC
@ 6x107° Nm?cC
~3x107% Nm¥cC
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A circuit when connected to an AC source of
12 V gives a current of 0.2 A. The same
circuit when connected to a DC source of
12 V, gives a current of 0.4 A. The circuit is

(1) series LC (2) series LCR

(3) series LR (4) series RC

A cycle wheel of radius 0.5 m is rotated with
constant angular velocity of 10 rad/s in a
region of magnetic field of 0.1 T which is
perpendicular to the plane of the wheel. The
EMF generated between its centre and the
rim is,

(1 05V
3) 025V

(2) zero
4) 0125V

For a transparent medium, relative

permeability and permittivity, 1, and €,

are 1.0 and 1.44 respectively. The velocity of
light in this medium would be,

1) 2.08x10% m/s
2
(3)

(4)

4.32x108 m/s
2.5%10% m/s

3%10% m/s

A sphere encloses an electric dipole with

charges +3x1070C. What is the total

electric flux across the sphere ?

(1) 3x10~% Nm2/C

@) 6x1070 Nm?/C

(3) —3x107% Nm¥C

@

Zero
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qituy ¥ qeiY SIER 99 el % & geed
guifa C) st C, wditvg € | g ares &
Varee @l del & SuEm we guiie C) &l

ol ko 2Rl @ of b § G ®te mafi
forar mar | o9 g AT b B Rt we <fiEe
b 3R ¢ B SR fFaT T ¥ | 3H% RO el
&1 wfas s Reeen s ?

k
a c
1
| — — —
c, Co

(1) 50 % Q) 25 %
B 5% 4 0%
el ETaRIoT TR ¥ S o g waell STgRd

stex e B B 0,514 ¥ qon T P
ot Suit —13.6 eV ¥ Ak sEgew wwEg A
TR B AT (u_) [fSreesT st sAaEH &
SR % UL T4 F=AR 207 m,, ] & wierenta

T ¥, 9Y uea ST e qur Frean s St
&

(1) 2.56x107%m, -2.8kV
@) 2.56x107Bm, -13.6eV
(3) 053x10 Bm, -3.6eV
@) 25.6x107Pm, —2.8eV
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Two identical capacitors C; and Cy of equal
capacitance are connected as shown in the
circuit. Terminals a and b of the key k are
connected to charge capacitor C| using

battery of emf ¥ volt. Now disconnecting a
and b the terminals » and ¢ are connected.
Due to this, what will be the percentage loss
of energy ?

k
a C
"o b
1o 1
c, Cy
1) 50 % ?) 25%
3) 75 % @ 0%

The radius of the first permitted Bohr orbit,
for the electron, in a hydrogen atom equals

0.51 /(1) and its ground state energy equals
—13.6 eV . If the electron in the hydrogen

atom is replaced by muon (p._) [charge same

as electron and mass 207 m,], the first Bohr
radius and ground state energy will be,

() 256x107Bm, —28keV

@) 2.56x107B3m, —13.6eV

(3) 0.53x1073m, —3.6eV

@ 256x10™%m, -28eV
[Contd...
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T faf vt X ofit Y % faw wliee-fagfa
a6 ©iY T T | 9§ Yaror femar e & fop ward X
¥ forg a7 v g i R g wo-g@t
% fre € uog qEt e Y % fow ¥ wwga
% BH T E 1

T OT HE §Hd ¢ 16 Ered X T Y e §
T § -

(1) ¥R iR wifes

(2) wRew it T

(3) @ 3R W

(4) =X R T

ARE H WY AR fF ue # 9 o aw
HAM: AR ST qAT T SR WX ¥ | T @ S
AT A & Wl B SHargal HEe: 15 cm 37 20
cm ¥ | I B O § — [Py = 1000 kg/m3

W]

1000 kg/m®  (2) 1333 kg/m3

(M
4) 750 kg/m3

(3) 1200 kg/m3

TR FAhA A & FRdl TEY SEAeR A,
e w@ (a7@ = p, faidte o gifar = s)
T ¥, & i T g gr s & e e A
g BT WEY T -26°C ¥ | 59 S F 96 B
T TRd B R g e x R

¥6 B ST Gl BT AW K g9l T B
fafire 7 S L @ gu, 39 &or 96 @ uta &
Arer ¥ ghe @ <X SR -

(1) 26K/(pxL)

2) 26K/px(L+4s)

() 26K/[px(L-4s)
@ 26K/ (p+2)
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The stress-strain curves are drawn for two
different materials X and Y. It is observed
that the ultimate strength point and the
fracture point are close to each other for
material X but are far apart for material Y.
We can say that materials X and Y are likely
to be (respectively),

(1) brittle and plastic

(2) plastic and ductile

(3) ductile and brittle

(4) brittle and ductile

In a u-tube as shown in the fig. water and oil
are in the left side and right side of the tube
respectively. The heights from the bottom for
water and oil columns are 15 cm and 20 cm
respectively. The density of the oil is

[take P = 1000 kg/m3]

oil

water
() 1000 kg/m3  (2) 1333 kg/m3
(3) 1200 kg/m3  (4) 750 kg/m3

A deep rectangular pond of surface area A,
containing water (density=p, specific heat
capacity=s), is located in a region where the
outside air temperature is at a steady value
of —26°C. The thickness of the frozen ice
layer in this pond, at a certain instant is x.
Taking the thermal conductivity of ice as K,
and its specific latent heat of fusion as L, the
rate of increase of the thickness of ice layer,
at this instant, would be given by

(1) 26K/(pxL)
2) 26K[px(L+4s)
(3) 26K/px(L—4s)

4) 26K / (psz)
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GaAsP @& S9RT #¢® A8l p-n @ sTs |
fiodt LED & &1 & T ¥ SOl e
1.9 eV ¥ | @il Wl & qoies B -

o]
(1) 6544
@ 654x107" 'm

(3) 104x10720m
4) 654 nm

TEf g9tar T ey o fhE wive 1T &
qagedr ¥ 7

+ 6V

R

A~ 0

1
.J;O__
! —3LED(Y)

R

(1) OR
(3) NOR

TEger, Sfvem qur e eest fruems AW
X (e o 35 T8 & utg T @ stiE

Cp
o e d) & V| =/ | @A s ¥

(2) NAND
(4) AND

25°C arg @ o fed R ww ¥ @ B
fvs 80°C § 70°C dw =1 € ¥ 12 Brie &1
T W ¥

7dl fms ® 70°C ¥ 60°C a% 31 89 & &N
T GHY BEW, T
(1) 20 fir

(3) 10 fFe
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4) 12 fFe

19

20

21

22

An LED is constructed from a p-n junction
diode using GaAsP. The energy gap is
1.9 eV. The wavelength of the light emitted
will be equal to

(1) 654 4
@) 654x107 1 m

(3) 104x107%0m
4) 654 nm

The circuit diagram shown here corresponds
to the logic gate,

+6V

R

A0
1

! —JLED(Y)

(1) OR (2) NAND
(3) NOR (4) AND

CP
The value of V| = C, | for hydrogen,

helium and another ideal diatomic gas X
(whose molecules are not rigid but have an
additional vibrational mode), are respectively
equal to,

577 757
O FFs @ FF5
7359 579
® 337 @3y

An object kept in a large room having air
temperature of 25°C takes 12 minutes to cool
from 80°C to 70°C.

The time taken to cool for the same object
from 70°C to 60°C would be nearly,

(1) 20 min (2) 15 min

(3) 10 min (4) 12 min
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1

1
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1
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A )
(1) EZ 3 2 VZJVI V2
1_ 1.1 2_ 1. 1
(3) vV ¥ V) (4) v Vi Vi

7% A U 6 o WX et fivs @ Tee
Rafes o=t o= BT &, m T=WF & feeh fos
» g % gs (Bream R) @ SO £ WA WN
IR Il Rerferet Sott & uRtede (aifm — amthss),
Ll

) GMm

1) mgh ® %
GMm GMmh
@ "rvrn @ RR+h)

WWW(ENIOSPG)WW

AT 100°C 9T -1 cm3 omaae % 1 g S @) 9y
¥ ufafda fer mr & | 3@ "W @ o
1671 cm? ¥ | Ot w@ & O & fafdiee 9
T 2256 J/g %, <t ariafies sot d qiEeT -
(1) 16717 (2) 2256 )
(3) 2423 1] (4) 2089 J
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The main scale of a vernier callipers has n
divisions/cm. n divisions of the vernier scale

coincide with (n - 1) divisions of main scale.
The least count of the vernier callipers is,

1 1
1) — 2
@ n? - @ n(n+1) o
1
(3) —_(n+1)(n—1) cm (4) -r—l cm

A person travelling in a straight line moves
with a constant velocity v; for certain

distance x' and with a constant velocity v,

for next equal distance. The average velocity
v is given by the relation

v v+ v
M) Z==—2 @ v=iun

2

» 1 1 4 1 2 1 N 1
® 3 @ 375,
Assuming that the gravitational potential
energy of an object at infinity is zero, the
change in potential energy (final — initial) of
an object of mass m, when taken to a height
h from the surface of earth (of radius R), is
given by,

1) mgh o
R+4h
@) ~ria * R(R+h)

1 g of water, of volume 1 cm3 at 100°C, is
converted into steam at same temperature
under normal atmospheric pressure

(21)(105 Pa), The volume of steam

formed equals 1671 cm3. If the specific latent
heat of vaporisation of water is
2256 J/g, the change in internal energy is,
(1) 16717 (2) 2256171

(3) 24237 4 208917
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A =60004 % R srETET Riad & e
o @1 i Sl 0, ¥ 1 o @ Rl @

el o= TmaTll webrel § W fepar S ¥, b
U Ao 30% T W ¥ | 56 W &
qoeH T -

(1) 6000;4J 2) 4202
(3) 18004 4 42004
fenelt wepter guTET vtk @1 HEABEAT 4.0 €V ¥ |

T qerd @ B SEui BT BT b T TR
B Sy o & ()

(1) 31 nm (2) 310 nm

(3) 3100 nm (4) 966 nm

femdy Wit ofR fell o — %o @ form & T
Tl o e fhT T ¥ 13 S e A,
& Ay, FT ATIE E -

1) +2:1 Q) 41
3) 2:1 @) 1:1

ety 2.2x10%s % Peey ARedahrea Tt ¥

o Rt o YRseiafres e @ =g 101057
¥ 1 3@ gur o T ¥ (ROl qwet &
e 7 -

(1) 3.17x10'
3) 3.17x10%

@ 3.17x10"°
@ 3.17x10"7

TR forell Jediferes S @1 et 24 h ¥ e
g Iuws, Rrae goit & g% ¥ 96 2.5 Ry
¥, @I ATadEE B

H = Ly
) 75h @ 75
(3) 6J2 n @ 1242 h
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Angular width of the central maxima in the
o]

Fraunhofer diffraction for A = 6000 4 is 0 -
When the same slit is illuminated by another

monochromatic light, the angular width
decreases by 30%. The wavelength of this
light is,

(1) 60004 2 42012

[o} o}
(3) 18004 4) 42004
The work function of a photosensitive
material is 4.0 eV. The longest wavelength
of light that can cause photon emission from
the substance is (approximately)
(1) 31 nm (2) 310 nm
(3) 3100 nm (4) 966 nm

A proton and an ¢ — particle are accelerated
from rest to the same energy. The de Broglie

wavelengths A » and A, are in the ratio,

1y 2:1

3) 2:1

Q) 41
@) 1:1

The rate of radioactive disintegration at an
instant for a radioactive sample of half life

2.2X109S is 101%~!. The number of
radioactive atoms in that sample at that
instant is,

1) 3.17x10'8
3) 3.17x10%

@) 3.17x10"
@ 3.17x10"

The time period of a geostationary satellite
is 24 h, at a height 6Rg (Rg is radius of
earth) from surface of earth. The time period
of another satellite whose height is 2.5 Rg
from surface will be,

H = ) =
D35 @ 753
(3) 62 h @ 1242 h
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T fEtor sm@ # I9ig T uTe % ST #)
% o FpY et T @l o WeRdl 7

En
JQK 7t
(a)
EN
J > ¢
(b)
E N
L N
(©
EN
v
(d)
(1) (a) 3} (b)
(2) *a (a)

(3) (a) st (D)

@) (@, (), (©), @

m T @ w5 v el geet dfw 7
(erdr TUties = W) WX @1 T ¢ | 39 s w
B AR I STy R W ¥, ug 9% 30
T WeE TE L T | St q«n
T @ &1 afm F ¥ 9 F ¥ -

N R

(1) FSmg\/1+p,2
%

2) |Fl=mg
.9

@) |F|=mg+ung
_)

@ |Fl=pnmg
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32 The variation of EMF with time for four types

33

of generators are shown in the figures. Which
amongst them can be called AC ?

En
Jﬂ\ o .
(a)
E N
s
(b)
EN
A
()
EN
7 7!
(d)

(1) (a) and (b)

(2) only (a)

(3) (a)and (d)

@ @, (), ), (@)

A body of mass m is kept on a rough
horizontal surface (coefficient of
friction = JL). A horizontal force is applied
on the body, but it does not move. The
resultant of normal reaction and the frictional
force acting on the object is given by F, where
Fis,

N _

1y |F|<mgy1+p2
ﬁ

) |F|=mg
_)

@) |F|=mg+umg
._)

@ |Fl=umg
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35

36

Rrem & <@ s Sm w FE w0 s @l
A weEl ¥ g IR ¥ T ¥ & g e
A B FIIH m T Th qEC b Rad [Gesh
A g ATy T B T | 5 AR ¥ ga
ol & —

— myv — my
(1) 5 @ 3

3 2 5 9

—my —my
(3) 5 4) 3

500 g %1 B fuve S o F Rervmraren H %,
W B uiEdl ¥, fraer X-aes o § w9
STE forerer s &, i fmar mn ¥
3 fuve & frgell X=8m quwr X =12m w
AN & WH FHHA: A

AF(N)

20

10.-
i o
4 5 |8 (1012 (m)

107

_20.

0, S SO ¥

(1) 23 mls &R 20.6 m/s
(2) 18 m/s ST 20.6 mis
(3) 18 m/s 3T 24.4 m/s
4) 23 mis 3 24.4 mis

159 50 cm o w2 kg B @ 3 faferst
30° @ % g o Rl oTMa a HAT @
3T Foh W ¥ | 7 Rafvrest & defa s ot 9@
4 m/s ¥ | ST I3 U FfUST & Tw T gl
B, [g = 10 m/s? Sfs]

(1) 1.2 m 2 24 m

(3) 22m @) 1.6m

F1 _ Hindi+English ]
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34 A particle of mass 5m at rest suddenly breaks

35

36

on its own into three fragments. Two
fragments of mass m each move along
mutually perpendicular direction with speed
v each. The energy released during the
process is,

4
(1) %mvz (2) Esz
© %mvz @ %mvz

An object of mass 500 g, initially at rest, is
acted upon by a variable force whose
X-component varies with X in the manner
shown. The velocities of the object at the
points X =8 m and X =12 m, would have

the respective values of (nearly)

NE(N)

20

10--
. 7 g
4 5 I8 1012 (m)

-107T

207

9B e N

(1) 23 m/s and 20.6 m/s
(2) 18 m/s and 20.6 m/s
(3) 18 m/s and 24.4 mls
(4) 23 m/s and 24.4 mls

A solid cylinder of mass 2 kg and radius 50
cm rolls up an inclined plane of angle of
inclination 30°. The centre of mass of the
cylinder has speed of 4 m/s. The distance
travelled by the cylinder on the inclined
surface will be, [take g = 10 m/s?]

(1) 12 m 2 24m

3) 22m 4 16m

[ Contd...
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38

39

40

F1_

ST & FART & AP H BT T | 36 0E
HITT &I & BRl —

P
® 7 @ P

P
3 0 @ 3

47 % T vE ¥ g 9 il @ ane am
eHlel § ST ¥ &I el el &, A grEy
fiftss & Jagew & % foell g W v %

A A
® 9% @ 117
A A
3 57 @ 10

ferelt f& oow @ A wHE g0 25 cm ¥ | §6E
Teh J56 %! Tehal 10T GEL Y5 i Jehall F3rd
o T | Rk & & wered @ secE 1.5

3, o gEa wman fBeard @l -
(1) 18.75 cm, 37.5 cm

(2) 50 cm, 100 cm

(3) 100 cm, 50 cm

@) 25 cm, 50 cm

T T ¥ 100 m T 1X o 200 m SO &
T el A Bl @ UH-qEl B A afrer faw F
M 9 25 m/s § 3 TMiwar T € &1 Jei T
¥ 13 I it B ofk ®el wh-qEy § WuE
BN ? (g = 10 m/s?)

(1) 4s & v9a@ 120 m & AR W

2) A it duz T8 BN

(3) 2s% yeEr 180 m & FuE W

(4) 2s % wyEE 20 m & FAE W

Hindi+English ]
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37

38

39

40

An equiconvex lens has power P. It is cut
into two symmetrical halves by a plane
containing the principal axis. The power of
one part will be,

P
» 7 @ p

P
® 0 @ 3

In a Young's double slit experiment, if there
is no initial phase difference between the light
from the two slits, a point on the screen
corresponding to the fifth minimum has path
difference

s A
m 93 @ 11z

A 2
@ 53 @ 105

A double convex lens has focal length
25 cm. The radius of curvature of one of the
surfaces is double of the other. Find the radii
if the refractive index of the material of the
lens is 1.5.

(1) 18.75 cm, 37.5 cm

(2) 50 cm, 100 cm

(3) 100 cm, 50 cm

4 25 cm, 50 cm

Two bullets are fired horizontally and
simultaneously towards each other from roof
tops of two buildings 100 m apart and of
same height of 200 m, with the same velocity
of 25 m/s. When and where will the two
bullets collide ? (g =10 m/s?)

(1) after 4s at a height of 120 m

(2) they will not collide

(3) after 2s at a height of 180 m

(4) after 2s at a height of 20 m

[ Contd...



41 gy T ofigy o Rl emRsl dieeHie & Teai®
y
20Q 30Q
30Q éOQ
| 1
| I
2V
() 057V 2) 04V
(3) 06V @ oV

42

P I
aaﬁqwﬁaég5=i%wuaﬁﬁm

Rafy ¥ & | o9 ol w1 AedArie ok @ &
gl &1 oEeT-Seer T T A | g HIX
qg ®d HON? AR 7, A g FEe Rafy F|w
] P

P 0
AAAAAA, AAPAAA
—_— 1 —
a N 2 N
~ A e
ll ZZ
. P_bh
) & ===
M 57
@ & ==2
b Q [2
, P -1
@ @ L=bh
o L+

4) &, =¥ sqEm feg TR

F1 _ Hindi+English |
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42

14

The rcading of an ideal voltmeter in the
circuit shown is,

20Q 30Q
30Q 20Q
| |
| |
2V
1) 057V 2 04V
3) 06V @4 oV

The metre bridge shown is in balance position

P i

with Ezg If we now interchange the

positions of galvanometer and cell, will the
bridge work ? If yes, what will be balance
condition ?

N

6y

€))

€))
@

no, no null point

[ Contd...
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44

45

F1_

g & gEaIT &9 & M Sagal — Afs 92w
H, Sie ues Vagn qi s § & 9 |@ey
¥, (Bg =g 3991 &)

(1) V =Bgcosd, H=Bgsind

(2) V=Bg, H=Bgtand

(3) V=Bgtand, H =By

(4) V =Bgsind, H = Bgcosd

U IRTEST 1 9% 29 go W &) g waen 200
3T 100 ¥ qo STt e Breand wwsT: 40 cm
afiT 20 cm ¥ 1 IR 78 9 &7 (7) wenfed
T, T A el & oy g &l @t

argu ¥
(1) 2:1 2 12
(3) 1:1 4 4:1

%3 dren Twe e g @ v ® WY,
ARE # TN FFEAR & A F ear § | guE
weT @t e R ¥ 1 3@ Wer &% %w P W g
TEHY T T —

~. N\

(1) 3ugi/32R, 9T & &t
Boi
) 2R,sﬁmﬁaﬂ~c

(3) @
4) 3pgi/32R, 9@ @ &

Hindi+English ]
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43

44

45

The relations amongst the three clements of
earth's magnetic field, namely horizontal
component H, vertical component ¥ and dip

& are, (B =total magnetic field)
(1) ¥V =Bgcosd, H=Bgsind
(2) V =Bg, H=Bgtand
(3) V=Bgptand, H =By
(4) V =Bgsind, H= Bpcosd

Two toroids 1 and 2 have total no. of turns
200 and 100 respectively with average radii
40 cm and 20 cm respectively. If they carry
same current , the ratio of the magnetic fields
along the two loops is,

(1) 2:1 2 12

3) 11 “4 41

A straight conductor carrying current i splits
into two parts as shown in the figure. The
radius of the circular loop is R. The total
magnetic field at the centre P of the loop is,

(1) 3ugi/32R, inward

[
2) 2R inward

(3) zero
(4) 3pgi/32R, outward

[ Contd...
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F1

= & § o faga—ompl a1 a8 #9 & 7
(1) BF,; <NH; < NF; < H,0
(2) H,0 < NF, < NH, < BF,
(3) NH; < BF; < NF; < H,0
(49) BF; < NF; < NH, < H,0

w5 faea % Reedietor g wra sraiesga
HifsTw FREs ¥ 9% T frwar -

(1) MgCl, (2) CaSO,

(3) MgSO, (4) Na,SO,

g gar °rg wrogst (MCl) & @ & o9
faetgde wawr (MCI - 2 H,0) et & s
T

(1) RbCl (2 KCl
(3) LicCl 4) CsCl
aﬁﬁw S fqwEa § Qe wREs 6

T A AT ¥ T Al U] EeH T e
'B'¥ I'A' gar 'B' wH: #@ME 7
- 3+

M |Al(H0), [, dsp?
2) :Al(H20)6:3+, d%sp®
3) :AI(H20)6:3+, sp°d?
@) _AI(H20)4:3+, sp°

e diftet ¥ @ BFE sERke = (FEEE
o) ¥ ygeT e ¥ ¢

(1) et (2) fweiemge
(3) fuferer 4) fufeere
Tod BYF & R |

(1) s, @t € e #i @ g & gedr
T

(2) 1 s s § S oMkEd TeEl | g
Gk

(3) At TE dED THT W @i § 41
% e & o Tga BT 3, et Hadral
T

4) wh i ¥ Wi &9 & W IW aw
THEts wwY § |

_ Hindi+English ]
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Which of the following is the correct order
of dipole moment ?

(1) BF; <NH; < NF; <H,0

(2) H,0 < NF; <NHj < BF;

(3) NH; < BF; <NF; < H,0

(4) BF; < NF; <NH; < H,0

Crude sodium chloride obtained by
crystallisation of brine solution does not
contain -

() MgCl,
(3) MgSO,

(2) CaSO,
(4) Na,SO,

Which of the alkali metal chloride (MCIl)
forms its dihydrate salt (MCI -2 H20)

easily ?
(1) RbCl (2) KCl
(3) LiCl 4) CsCl

Aluminium chloride in acidified aqueous
solution forms a complex 'A’, in which
hybridisation state of Al is 'B". What are 'A'
and 'B', respectively ?
73+

1) _AI(H20)4_ ., dsp?
@ |Al(H0), 3+, d%sp’
3) Al(HZO) 3+, spd?
@ [a1(5,0),]7, s

Which of the following compounds is used
in cosmetic surgery ?

(1) Silicones (2) Zeolites

(3) Silica (4) Silicates

Identify the incorrect statement.

(1) Ores are minerals that may contain a
metal.

(2) Gangue is an ore contaminated with
undesired materials.

(3) The scientific and technological process

used for isolation of the metal from its

ore is known as metallurgy.

Minerals are naturally occurring

chemical substances in the earth's crust.

4
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F1

T% AR X S & 91 AR BT WX T

@ @ @ & 1 {9 'Y, CuSO, & fymwT #
STAMA B 9 Cu,yP, S & it o Sl 7 &
s ¥ | AP X @ Urfe B |

(1) As,O, (2) Cay(PO,),
(3) CasP, (4) NH,CI

o1 BreRE & sTeEeRTst ¥ o g s
U7 S § 7

(1) H;PO, (2) H;PO,

(3) HyP,0, (4) H,PO,

fr= A 9 ‘elife @1 ger g usih |

(1) H,S0, ) H,S,04

(3) 1,8,0, (#) H,S0,

TS S ST g frid KMnO ,, %t Wil
HTHISTES o HFT IUDIA {61 Sl & o SIisRs
e X' A afafig st smar & 1'X' ¥ -

(1) I0; @ 10”

G L 4 104

[CoClg]" % R B & Rerdiarc s

(@rowTad) 18000 cm & 1 [CoCly [
% g dosgd. -

(1) 18000 ecm™ (2) 8000 cm!

(3) 6000 cm™! (4) 16000 cm™!
HH-A ¥ @ ™ aliquEs & 36 FEE-B ®
@ o ¥ gafaa #ifg

e - A FwH - B

(@ Na,0 (a) STES

(i) ALO, (b) st

(iii) N,O (c) =g

(iv) CL0, (d) sl

fre forpedl & & e & Foreds avit g W@ €7
(1) (@), (i)-(d), (iii)-(b), (iv)-(c)
2) @b, (i)-(d), (iii)-(a), (iv)-(c)
(3) Db, (1i)-(a), (iii)-(d), (iv)-(c)
@) (@)-(0), (i)-(b), (iiD)-(a), (iv)-(d)

_ Hindi+English ]
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A compound X' upon reaction with H,O
produces a colorless gas "Y' with rotton fish
smell. Gas 'Y' is absorbed in a solution of
CuS0, to give CusP, as one of the products.
Predict the compound X

(1) As,O4 (2) Cay(POy),

(3) CaP, 4) NH,CI

Which of the following oxoacids of
phosphorus has strongest reducing property ?
(1) H,PO, (2) H;PO,
(3) H,P,0, (4) H;PO,

Identify the correct formula of 'oleum' from
the following.
(1) H,S0,4

(3) H,S,0,

(2) H,8,04
(4) H,SO;

When neutral or faintly alkaline KMnO, is
treated with potassium iodide, iodide ion is
converted into 'X'. 'X'is -

(1) 105 @ 107
G I @ 10y

The Crystal Field Stabilisation Energy
(CFSE) for [ CoClg | is 18000 em™. The

CFSE for [CoCl, ]2‘ will be -

(1) 18000 cm™!  (2) 8000 cm!
(3) 6000 cm!  (4) 16000 cm!

Match the oxide given in column A with its
property given in column B :

Column - A Column - B

() Na,O (a) Neutral

(i1) Al,O4 (b) Basic

(iit) N,O (c) Acidic

() CL,0, (d) Amphoteric

Which of the following options has all correct
pairs ?

(1) @-@, ()-(d), (iii)-(b), (iv)-(c)

) @-(b), (i)r(d), (iii)-(a), (iv)-(c)

(3) @-b), (i)-(), (i)-(d), (iv)-(c)

4)  (-(0), (1)-(b), (ii)~(a), (iv)(d)

[ Contd...
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F1_

NaOH & 2 M wdig famas &1 T¥a
1.28 g/em? ¥ | fyerae & wwerar & 1 [ReEn
mar ¥ : NaOH @1 5wt =™ = 40 g mol™1]

@
“4)

(1) 1.67m 1.32m

(3) 120m 1.56 m

3wl s qur 3 HW s TET A HEw o
() 4f (2) 6d
3 5p (4) 3d

TISEISH TTATY] & T ST &t & U geae @
f& srEn aes B,

[fem e & : 9 Brewn, ag = 52.9 pm]

(1) 529 Tpm (2) 105.8 pm

(3) 211.6 pm (4) 211.6 © pm

374 °C g | X 319 9 S@@™ & 1.8 g &1

T IT AT B —

[R = 0.083 s LK~ mol~! %1 w&mm Y]
() 3.10L (2) 537L
(3) 96.66 L (4) 5587 L

s eyl i 10° Nm2 & Rt s & fores,
300 K 9¥, 103 m3 & 102 m? & gaand &q
¥ fomm & ¥ 1 T o e ™ wRE ¥ -

@) — 900kJ
@) -9007J

(1) +900kJ
(3) +270kJ

Hindi+English ]
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62

The density of 2 M aqueous solution of
NaOH is 1.28 g/em3. The molality of the
solution is [Given that molecular mass of
NaOH = 40 g mol~!]

(1) 1.67m 2 132m

3) 1.20m 4) 1.56m

Orbital having 3 angular nodes and 3 total
nodes is -

(1) 4f 2 6d

(3) Sp @ 3d

In hydrogen atom, the de Broglie wavelength
of an electron in the second Bohr orbit is -

[Given that Bohr radius, ag = 52.9 pm]

(1) 529 pm (2) 1058 pm

(3) 2116 pm  (4) 211.6 T pm

The volume occupied by 1.8 g of water
vapour at 374 °C and 1 bar pressure will be -

[Use R = 0.083 bar LK~! mol]
(1) 3.10L
(3) 96.66 L

() 537L
(4) 55.87L

An ideal gas expands isothermally from
10-3m3 to 102m3 at 300 K against a
constant pressure of 105 Nm—2. The work
done on the gas is -

- 900 kJ
-9001J

(1) + 900kJ
(3) +270kJ

2
4)

[ Contd...
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F1

TR B & v fe s (T d -

A(Py, Va, Ty )

o>

B(Pg, Vg, Tp)

C(Pc» Ve, Te)

V=

AB — gHadl T9I9T
AC = &g JEI0

frddana e e & s ?

(1) Womarht > Wegisr

2) Tc>T,

(3) ASggamst > ASegien

@ T,=Tg

0.01 M NaOH (aq) faees @1 pH & —
1) 12 2) 9

(3) 7.01 4 2

e 9 9 o TRes s o vRE @i

T H G T H T T B GhAr & 7
(1) HCI (2) HSO,
(3) HCOj (4) NH;

NaF & 0.1 M foe= # CaF,

(Kgp = 5:3 x 10711 &t wrere frevaren 2ol -
(1) 5.3x1079 mol L

(2) 5.3 %1010 mol L1

(3) 53 x101 mol L1

4 53x108 mol L!

CrOg @ Cr @t Siladinor sfemn & —
(1) +6 (2) +4
3) -6 4) +12

_ Hindi+English ]

63 Reversible expansion of an ideal gas under

64

65

66

67

isothermal and adiabatic conditions are as
shown in the figure.

A(Pa- Vp, Tp)

P B(Pg, Vg, Tp)

C(Pe, Vs Te)

A\

AB — Isothermal expansion
AC — Adiabatic expansion

Which of the following options is not
correct ?
(D Wisothermal ~ Wadiabatic

(2) To>Ty

(3) A Sisotherma
4 T,=Tg

[ > AS

adiabatic

The pH of 0.01 M NaOH (aq) solution will
be -

() 12
3) 7.01

@ 9
@ 2

Which of the following cannot act both as
Bronsted acid and as Bronsted base ?

(1) HCI (2) HSO,

(3) HCOj 4) NH,

The molar solubility of CaF, Kep =33 x
10711y in 0.1 M solution of NaF will be -
(1) 5.3 x 10~ mol L~

(2) 5.3 %1071 mol L1

(3) 5.3 x 1011 mol L1

4 5.3 x1078 mol L

The oxidation state of Cr in CrOyg is -
(1) +6 2) +4
(3) -6 4 +12

[ Contd...
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(i)
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F1_

SEE B YT & WY GAT BT —
EG EC3 LEX|

V,0; (a) TURT @ TIFA A
ST T

TiCl, + (b) UTmEH W

Al(CT )3 R

PdCl, (©) H,80,%
el Fmior &
SO, &1 ST

e gt (d) udel= @
ERGEJCTU

e ¥ 9 o faesr w8 ¥ 7

(1Y @), (ii)-(c), (iii)-(b), (iv)-(d)
) @-(), (i)-(a), (iii)-(d), (iv)-(b)
(3) (@)-(c), (i)-(d), (iii)-(a), (iv)-(b)
@ (@)-(a), (i)-(b), (iii)-(c), (iv)-(d)
e ¥ 9 gaife @ seikheET & —

®
(1) CH; —CH-CH, — CH, — CHj

@

2 CH;-CH,-CH,

@
3) (CH3),C-CH-CH;

5]
(4) CH;-CH,-CH-CH, - CH,

ferafa gty @1 Suitafy ¥ @8 wesa w1 Cl,y
F Y TN B U 915 U AN-S
IOE T T, T -

() n¥=+
(2) SRR
(3) 2, 2 - sEAREEA
(4) frenu=s
frer arfrfpa &,
mwﬂﬁm

— mﬁ LY

H,C-C=CH s

s 'A' ¥ suRea R (0) ent @ e
:

1) 24
B3 21

2 18
4 9
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®
(i)

(ii)

(iv)

69

70

71

Match the catalyst with the process :
Catalyst Process

V505 (a) The oxidation of
ethyne to ethanal

TiCl, + (b) Polymerisation

AI(CH3)3 of alkynes

PdCl, (c) Oxidation of SO, in
the manufacture of
H,S0,

Nickel (d) Polymerisation

complexes of cthylene

Which of the following is the correct option ?
(1) ()-(a), (i)-(c), (iiD)-(b), (iv)-(d)
@ (@), (ii)a). (iii)-(d), (iv)-(b)
3) (<) (i), (iiD-(a). (iv)-(b)
4) (@), (1D~b), (iiD)-(c), (iv)-(d)

The most stable carbocation, among the
following, is -

@
(1) CH;-CH-CH, - CH, - CHj
@
2 CH;-CH,-CH,
@
3) (CH;),C-CH-CH,4

@
4) CH;-CH,-CH-CH, - CHs

The alkane that gives only one mono-chloro
product on chlorination with Cl, in presence
of diffused sunlight is -

(1) n-pentane

(2) Isopentane

(3) 2, 2 - dimethylbutane

(4) ncopentane

In the following reaction,

red hot
iron tube

873 K
number of sigma (G) bonds present in the

H;C-C=CH A, the

product A, is -
(1) 24
3) 21

(2 18
“) 9

[ Contd...



72 =% ®f@ T S Sugw Rewsie & @ feiw
gs § vge B 3, ¥
(1) NO, () Co,
(3) AT iw 4 vafrem

=1 &, a5 W ervEen @ e S G99 W g
g g, & -

(1) H,C=CH-CH,CI

73

wettr NaOH

ra

H,C = CH - CH,OH

©) QCHZCI ST NaOH_,

3) cl S NaOH
CH,
1]
ONa
CH,
e NaOH

(4) HyC-CH,-Cl

H,C - CH, - OH

v fidias Tepieia & ™ @& 573 K 9T ™
BT H HUT YT B &, O T Il I
g"\'rn_

(1) s feer

(2) T TN

(3) UF wEHFERTD TS

(4) U uieEEE

74
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72 The liquified gas that is used in dry cleaning
along with a suitable detergent is -

() NO, 2y CO,
(3) Water gas (4) Petroleum gas

73 The hydrolysis reaction that takes place at
the slowest rate, among the following, is -
(1) H,C=CH-CH,C] 2% NaoH
2) @— - CH,CI __a9. NaOH |
3) Q €l 24 NaOH
CH,4
SRS
ONa
CH,4
4) H,C-CH,-C] —24-N2OH
H;C-CH, - OH
74 When vapours of a secondary alcohol is
passcd over heated copper at 573 K, the
product formed is -
(1) a ketone
(2) an alkene
(3) a carboxylic acid
(4) an aldehyde
[Contd...
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CuS0, - SH,O & @ €T, eEsies
e S@ SUY/STUfS Wl T Bl —

(1) 2 2 5

) 3 1

frere ofieTss &1 g, 39% fktew # gig Jfe dw
Ni3* s ¥ | fower & Ni2t omow & v o
IuReg e @1 ofo & -

(1) 0.50 () 031

(3) 0.96 4) 0.04

aRst FEER ¥ Mo faoed fem T &
Il ATHTBr R s s d e A ®
HFT-TT BT T T ?

(D) AmixV=0,ﬁﬂTTHﬂTPQT

(2) A-A 31 B-B & diw SiqUesm SRy
T, 37 A-B o1jett % €9 B9 A e
@l & TS B |

A-A 7T B-B % 99 ATeE Y
T, 31 A-B a19jsit % 919 89 A ey
T ¥ TR SO |

Apix H=0, Rex T an P

3)

C

TE G 4T N, SIarsd & Aa—-sier 0.02 317k
"G &1 B P @ 1.2 atm § N I &A1 @
STifdreR =T T -
(1) 1.176 atm
(3) 1.18 atm

(2) 0.98 atm
4) 1.76 atm

ABY/AL Agt/Ag, KY/K @ Cr3%/Cr % A
T 9% S fawe wH —1.66 V, 0.80 V,
-2.93V @ 0.74V ¥ | aigsi & =S
e BT GE wd HH T —

(1) K>Al>Ag>Cr

(2) Al>K>Ag>Cr

(3) Ag>Cr>Al>K

4) K>Al>Cr>Ag

Hindi+English ]
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The number of hydrogen bonded water
molecule(s) associated with

CuSO, - 5H,0 is -

1 2 @ 5
G) 3 “4) 1

Formula of nickel oxide with metal deficiency

defect in its crystal is Niy 9gO. The crystal

contains Ni2* and Ni3* ions. The fraction of
nickel existing as Ni2* ions in the crystal is -
(1) 0.50 2) 031
(3) 0.96 4) 0.04

Which of the following statements is correct
regarding a solution of two components A
and B exhibiting positive deviation from ideal
behaviour ?

(1) Apix V=20 at constant T and P.

(2) Intermolecular attractive forces between
A-A and B-B are equal to those between
A-B.

Intermolecular attractive forces between
A-A and B-B are stronger than those
between A-B.

4 A;x H=0 at constant T and P.

€)

In water saturated air, the mole fraction of
water vapour is 0.02. If the total pressure of
the saturated air is 1.2 atm, the partial
pressure of dry air is -

(1) 1.176 atm (2) 098 atm

(3) 1.18 atm (4) 1.76 atm

The standard electrode potential (Ee) values

of AB*/Al, Ag*/Ag, K¥/K and Cr3*/Cr are
-1.66V, 0.80V, -2.93V and -0.74V,
respectively. The correct decreasing order of
reducing power of the metal is -

(1) K>Al>Ag>Cr

(2) Al>K>Ag>Cr

3) Ag>Cr>Al>K

4) K>Al>Cr>Ag

[ Contd...



80 =1 arffrn ¥ <79 oWl g&7 S@w C qar D
wAM: ¥

H,C - CH, - CH, -0 - C(CH;j),

HI (s &)
A

(1) H3C - CH,

C+D

-CH, -1 wur
HO - C(CHs),

@) H;C-CH,-CH,-OH gur

HO - C(CHs),

H;C-CH, —CH, -1 @t

3)
I-C(CHs),
H;C - CH, ~OH @

%) —CH,

1-C(CHs),

81

M

@

3)

COCH,
(i) NaOCl
(i) Hy0"

4)

F1 _ Hindi+English ]
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81

6y

@

&)

)

The major products C and D formed in the
following reaction respectively are :

HyC - CH, - CH, -0~ C(CH;),

excess HI
= > C+D
(1) H3C-CH, -CH, -1

and HO - C(CH,),

() H;C-CH,-CH,-OH

and HO - C(CHs),
(3) H3C-CH,-CH, -1
and 1- C(CH,),

4) H;C-CH,-CH,-OH

and 1-C(CHj),

The reaction that does not give benzoic acid
as the major product is -

CH,OH
PCC
Pyndlmum }
ch]orochromate
CI,0H
KMnO, /H*
CH,OH
K,C r207
COCH,
(i) NaOCl
(i) H30"
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F1

A Ao AeHad R 59 YHI & TS §

o]

B 2
km(HZSO4) =x Scm” mol
o 3 2 1
lm(K2304) =y S cm” mol
° _ 2
xm(CH_o,COOK) =7z S cm” mol

CH,COOH % g A, (s cm? mol ™! ﬁ')
wrft -
(x=y)

@) >
(4) x+y+z

(1) x-y+z
B x-y+2z
Tw 999 &g afufew w1 30 fHuaie

2.303 x 107 57! ¥ | 5w st % 40 ¢
@ gAY 10 g @ 9N § W 9ren 999 &6 —

[fem e % log; g2 =0.3010]

(1) 20005 Q) 602s
(3) 2303 ) 301s

T sttt % o, |feao s, E, = 0 7er 3w
T, 200 K ¥, 1.6 x 100571 %1400 K ¥
1 Fraaie & -

[femr wm & : ¥ Rertiss,

R = 8314 JK~! mol™]

1) 1.6x103st (2) 3.2x10%s7!

(3) 3.2x10%s! (@) 1.6x10%s71

Teh HIaSoTeh STRINSIT HaT 1@t &l e
B e ga fabew & —

1 —=kp 7 (2 —=kp
m m

® —=kp? @ —=kp®’

P 8 4 o orgge ¥ 7

(1) Li, (2) 0O,

0 X, @ H

_ Hindi+English ]
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Following limiting molar conductivities are
given as

o

3 2 -
km(HZSO4) =x S ecm” mol

° B 2
?\'m(KZSO4) =Y S cm mol

° B 2 -l
)”m(CH3COOK) =z S cm” mol
A, (in S cm” mol‘l) for CH;COOH
will be -

X —

W oxoyes @ B0
B) x-y+2z 4 x+ty+z

A first order reaction has a rate constant of

2303 %107 71

40 g of this reactant to reduce to 10 g will
be-

[Given that log;q2=0.3010]

(1) 2000s (2) 602s
(3) 2303s 4) 301s

. The time required for

For a reaction, activation energy E, =0 and
the rate constant at 200 K is 1.6 x 109 s71,
The rate constant at 400 K will be -
[Given that gas constant,

R = 8314 TK~! mol™!]

(1) 1.6x103s1 (2) 3.2x100s7!

(3) 32x104s1 (@) 1.6x106s7]

The correct option representing a Freundlich
adsorption isotherm is -

B X

1) —=kp "’ @ —=kp

m m

X 0.3 X 2.5
(3) —=kp 4 —=kp

m m
Which of the following is paramagnetic ?
(1) Li, 2 0,
3) N, 4) H,
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F1

T T W@ et sfvemds % g erfufear
B A | g SwR A ¥, ¥ -

NH,
|
(1) CH;-C-CH,CH,CHj
l
CHj
CH3
l
2y CH;-C- CH-NH,
o
CH; CHj
(3) CH;—- CH -~NH- CH - CHj
I l
CH; CH;
CH,CHj3

|
(4) CH;—-CH,— N-CH,CH,

TR @ P Ga/EE Y [SPars e THd
% dig oS (Trga) T 2R ?

(1) %o« TEdas qEe

(2) ¥aw qoraE @

(3) fedgs a1 JAE® I AR

@) o mAts §oa

SaEiE ) §99 % WY 98 9gaw W &1 %
fpes & w9 ¥ ygad wn &, ¥ -

(1) TRICRAEZE
(2) =fr-N
(3) e

(4) T™@E-6, 6

IE PRM W, T FiwT I UL T Tl §
U HAR T @ ¢, ;W -

(1) g (2) wew

(3) i 4 T
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The amine that reacts with Hinsberg's reagent
to give an alkali insoluble product is -

NH,
I
(1) CH; - ? — CH,CH,CH,

CHj

CH;

|

() CH;-C- CH-NH,
l |
CHj3 CH3

(3) CHj; - (llH —NH — (le — CHj;

CH3 CH3

CH2CH3

, |
4) CH;-CH, - N-CH,CHj

Which structure(s) of proteins remain(s)
intact during denaturation process ?

(1)
2
€))
4)

Secondary structure only

Tertiary structure only

Both secondary and tertiary structures
Primary structure only

The polymer that is used as a substitute for
wool in making commercial fibres is -

(D
@
3)
Q)

polyacrylonitrile
Buna-N
melamine

nylon- 6, 6

The artificial sweetner stable at cooking
temperature and does not provide calories
is -

(2) alitame

(4) aspartame

(1) sucralose

©)

saccharin

[ Contd...
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F1

we X Foraent st = A ¥ ol Awer e she
Tt B ¥ % fyaw & usang a9l daia & ehi
T AB @war B ¥ | 39 YR W@ @l 999
SRy o7 B Ghar & ¢

() IATA FR); 1B i (wmem)

2 i@, IBi (wm=)

() Ii(E); BIB (m)

4 IA1A (T); BB ()

e EislieT 7 UH gl T 1 & § AT S

¥ | e o @ Reafey orger fafeor  wemew

e ?

(1) o/ v & e s amen &

(2) v & fed el otaw, ¥ 9E |
Ols g WX WA

(3) THT & WEl wor e ® A # 9ga o
&9 @ g El

4) uw YR % R smawm o &=

2T W TN Rearcremar @ WEed % fusieTe
amerg ¥ oraga A, B @it C %! geig ¢

A

Response 1.
4
| C |
Physiological Response
Pre & & oftr R g
(1) A ==gs z@; B = m@; C = fadm
EH T
(2) A =9RN ¥EN; B = @b AMP; C =
TS HEE
(3) A =TRAgs T, B = TEAUE Hriad;
C =9m
(4) A =9RN THE; B = 1@ C = 9w
AMP

_ Hindi+English ]
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In a marriage between male with blood group
A and female with blood group B, the
progeny had either blood group AB or B.
What could be the possible genotype of
parents ?

(1) TATA (Male) ; IB i (Female)

(2) IAiMale) ; IB i (Female)

(3) IAi(Male) ; IB IB (Female)

(4) IAIA (Male) ; IB IB (Female)

A population of a species invades a new area.

Which of the following condition will lead

to Adaptive Radiation ?7

(1) Area with many types of vacant habitats.

(2) Area with many habitats occupied by a
large number of species.

(3) Area with large number of habitats

having very low food supply.

Area with a single type of vacant

habitat.

@

Identify A, B and C in the diagrammatic
representation of the mechanism of hormone
action.

A

U
—

C |
Physiological Response

Select the correct option from the following :

(1) A = Steroid Hormone; B = Receptor;
C = Second Messenger

(2) A= Protein Hormone; B = Cyclic AMP;
C = Hormone-receptor Complex

(3) A = Steroid Hormone; B = Hormone-
receptor Complex; C = Protein

(4) A = Protein Hormone; B = Receptor;

C = Cyclic AMP

[ Contd...
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F1_

AT § It wRea sy & S kel St

HAT T S qmropett @t frsratfaa wel & 1@

ISR o & T T ST URIE SURST S §

FiTs I%

(1) 5 wrphie e SIS BT § ST wawT
H T 3 g el &7 e Hdr E

il witre wam & T

e & fadw B ¥ ok Rt v %
LS T START S 8 |

W i emiear & g # ifdwsr
IO B ¥

@)
3)

G

I WS o e SR e @1 T iy ¢
(1) AR i YT S ST Bl &9 Bl
¥ ot ofd: Yo STeERT HYar 8 |

(2) Sid: YO STEHIEH, 9% SHT0 g I I
&l fomam I Hepan |

(3) o Yo gale ¥ ode oW & SR
¥ WerH® ol ¢ |

(4) of: gor fordlt ol & gseenhe & fermre
% fog amasms

Hepierd Wiges yaew &1 feven s & 7T & S

T @ -

(1) o VA g geaEr S Ay

(2) el 9w wa W erle Sat gt Fiiew
T e

() @i fady o weele S wifdg

(4) Yo S wE frga Wew BT =Ry

Hindi+English ] 27

94 Humans have acquired immune system that

95

96

produces antibodies to neutralize pathogens.
Still innate immune system is present at the
time of birth because it

M

has natural killer cells which can
phagocytose and destroy microbes.

provides passive immunity.

@)
()

is very.specific and uses different

macrophages.

produces memory cells for mounting

“)

fast secondary response.

Select the incorrect statement regarding

inbreeding.

(1)

Continued inbreeding reduces fertility
and leads to inbreeding depression.

Inbreeding depression can not be

2)

overcome by Out-crossing.

Inbreeding helps in elimination of

&)

deleterious alleles from the population.

Inbreeding is necessary to evolve a pure-

“

line in any animal.

A biocontrol agent to be a part of an

integrated pest management should be
(1) narrow spectrum and symbiotic

2

species-specific and inactive on non-

target organisms
3)
Q)]

species-specific and symbiotic

free living and broad spectrum

[ Contd...
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100

F1

e & § S st A aWdE 1 ge
WH T 7

(1) R

(2) BEREEN

(3) Nheeif e

(4) wEpfiE

iy famr & 9R afea wd Fifeea aftass o
e T & -

(1) ey wiEes =EhE T’ I-F %
diftr ¥ wafe afen aliEe e aws
AR W 9@ |

gfpr ufaes g Rae & emaea
droan ¥ BT R

e aitaes s S & weie aiha
e =g o & |

fifer aRaew & oo e fareelt s
YAl TRT wEie Wiy wiiaed & foe
g T % foT e TRy |

@
3)

)

wy — | ¥ Ru v Hel @ @y - A Ru e =ey
% oy e sife ofit sfaa Reer &1 agw

HINY |

wWa-1 ww - [
= (i) fyafm B,
ThIgst (i) geare uhEe
STRTST BRI (iii) o WEH
RIS (iv) Tefemiom

(1) @-Gv), (b)-(iid), (c)-(ii), (d)-()
@) (@-GiD), (b)-(v), (0)-(1), (d)-(ii)
(3) @-(GiD), (b)-Gv), (c)-(ib), (d)-(1)
4 (@-(iv), (b)-(iid), (c)-(1), (d)-(i1)

FARTSTDBIT U1 fohe R @ &ar & 7

(1) welEEse & &9 4

(2) 9EN B N A REd FAD @ e 98
B

(3) N U @ B B q

(4) wEN wE Al SN @ 5 Y
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(a)
(b)

(©)
@

100

Which of the following organic compounds
is the main constituent of Lecithin ?

(1) Cholesterol

(2) Phosphoprotein

(3) Arachidonic acid

(4) Phospholipid

The main difference between active and
passive transport across cell membrane is :
(1) passive transport is confined to anionic
carrier proteins whereas active transport
is confined to cationic channel proteins.
active transport occurs more rapidly
than passive transport.

passive transport is non-selective
whereas active transport is selective.
passive transport requires a
concentration gradient across a
biological membrane whereas active
transport requires energy to move
solutes.

@
€)
)

Match the items given in Column - [ with
those in Column - II and choose the correct

option.

Column - I Column - II
Rennin (i) Vitamin B,
Enterokinase (i) Facilitated

transport
(iii) Milk proteins
(iv) Trypsinogen

Oxyntic cells
Fructose

() (@-(@iv), (b)-(iid), (c)-(ii), (d)-(1)
(2 (a-(iiD), (b)-(iv), (c)-(), (d)-(i1)
(3)  (@-GiD), (b)-(iv), (¢)-(i), (d)-(D)
(4)  (@)-(v), (b)-(ii), (c)-(), (d)-(ii)

Kwashiorkor disease is due to -

(1) deficiency of carbohydrates

(2) protein deficiency not accompanied by
calorie deficiency

(3) simultaneous deficiency of proteins and

fats

simultaneous deficiency of proteins and

calories

4)

[ Contd...
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F1_

st ®a &1 Tu Hiwg |

(1) 9 IgFsdT T@ AAEHE I9 § A
BT & O SfieEe BT # |

Fryaee A JooTa SEWHH F HFaT |
RGN

Tl siaTgi® Yl & eror Frisaae g
)

T $qE & A0 ATGGU! &S AgHSAg
T H FHA BA § |

@)
3)

CY

T TR FR TAYEH 998 6 1 9T G
e = oy & e saee @ @ wEd § 7

(1) Siq:eEEs &oan
(2) HwSt B A &
(3) Fryaes gwan

(4) & quar

Hisw Id% & U HaUd WIS i & BT
SA s & gHTg YgAHT & B R BT T 7

(1) % SA =iz fpan fava @t o=y oreal a@
AT %Y T & |

(2) SA s # frgaor @ X aftenad B § |
(3) SA e ¥ fagaer &t X e € ¥

(4) Foaw SA Wis & TAT oEUT & W NET
a1 B gear

arfeie Freg 2 & Fee T anfeic & Faw a9
T €T Us [ e Sus &y Ry 9% &maT
F yart 1 0.1 ¥&e 9 Ree st 3 ¢ 139 s
%

(1) @ FHE a9l o ga9T &L A ¢
(2) onfie quia: faa & 9@ €

(3) & HWEET ¥ YA BT T ¢ |
(4) = QUi @El e S ©
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Select the correct statement.

(1) Inspiration occurs when atmospheric
pressure is less than intrapulmonary
pressure.

Expiration is initiated due to contraction
of diaphragm.

Expiration occurs due to external
intercostal muscles.

@)
3)
Intrapulmonary pressure is lower than

the atmospheric pressure during
inspiration.

(4)

The maximum volume of air a person can
breathe in after a forced expiration is known
as :

(1)
@
3)
4

Inspiratory Capacity
Total Lung Capacity
Expiratory Capacity
Vital Capacity

All the components of the nodal tissue are
autoexcitable. Why does the SA node act as
the normal pacemaker ?

(1) Only SA node can convey the action
potential to the other components.

SA node has the highest rate of
depolarisation.

SA node has the lowest rate of
depolarisation.

SA node is the only component to
generate the threshold potential.

2)
()
“)

A specialised nodal tissue embedded in the
lower corner of the right atrium, close to
Atrio-ventricular septum, delays the spreading
of impulses to heart apex for about 0.1 sec.
This delay allows -

(1) blood to enter pulmonary arteries.

(2) the atria to empty completely.

3
©)

blood to enter aorta.
the ventricles to empty completely.
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F1

T TRl B Sh B % Gy gAtaa iy

Ax shaa fawe &1 @ww AT

wiees dsgfRea (i) DNA @si & dsan

i waiRglieT (i) Siits DNA
THRE I WIEAY
w Tl

(ili) DNA & fasw
fafr w Fe

(iv) DNA & 3fd &
JRmaterst &t
AT

DNA gt
Tag dfeim T

(1) (@-@1v), (b)-(iii), (c)-(), (d)-(11)

(2) (@-(i), (b)-(iv), (c)-(), (d)-(ii1)

(3) (a)-(ii), (b)-(1), (c)~(iv), (d)-(ii)

4) (@)-(ii), (b)-(iv), (©)-(1), (d)-(i1)

Hares pBR 322 1X suftem aF whdtfs wRrded
W E -

(1) FAREHHE & SZaEa

(2) ITEERIT Ud HAHERA

(3) dfifafeT T TzmEa

(4) dhfaf o FREShe

FERMYEA HUFE G el g | 41 argHET
% S GETES &1 IO HIAT Hedl & —

(1) srERe 2) @I
(3) R (4) wEEE
HETET 9g — 9% T A OF o N9 H W §

e IR afrepaY 75 gl @1 R F §
3l < BiR wwgelt a1 | 9% wWuf @ Geufaty
FEATA § —

(1) dares fwmem

(2) @t argEst

(3) g frawwde

(4) wRsBIREr

U T F FIRG RIUETT ® GAN B BA
HRd B P wefiEl @ swden § ah @
Titpd B T |

(1) oratus gl &

(2) Ufrew =i 3w A

(3) e @A A

@) e fodsT §
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105 Match the following enzymes with their

(@)
(b

(©
(D

106

107

108

109

functions :
Restriction (i} joins the DNA
endonuclease fragments
Restriction (ii)) extends primers
exonuclease on genomic
DNA template
DNA ligase (iii) cuts DNA at
specific position
Tag polymerase (iv) removes
nucleotides from
the ends of DNA

Select the correct option from the following :
(1) (a)-(v), (b)-(iid), (c)-(i), (d)-(ii)

(2) (@D, (b)-(iv), (c)-(D), (d)-(iii)

() (@iib), (b)-(i), (c)-(iv), (d)-(ii)

) (@i, (b)-(v), (c)-(1), (d)-(id)

The two antibiotic resistance genes on vector
pBR 322 are for

(1) Chloramphenicol and Tetracycline

(2) Tetracycline and Kanamycin

(3) Ampicillin and Tetracycline

(4) Ampicillin and Chloramphenicol

Exploitation of bioresources of a nation by
multinational companies without authorization
from the concerned country is referred to as -
(1) Bioethics (2) Biowar

(3) Bioweapon (4) Biopiracy

Camivorous animals - lions and leopards,
occupy the same niche but lions predate
mostly larger animals and leopards take
smaller ones. This mechanism of competition
is referred to as -

(1) Resource partitioning

(2) Competitive exclusion

(3) Character displacement

(4) Altruism

Decline in the population of Indian native
fishes due to introduction of Clarias
gariepinus in river Yamuna can be
categorised as

(1) Over exploitation

(2) Alien species invasion

(3) Co-extinction

(4) Habitat fragmentation
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(a)

(b)

©

(d)

F1_

Frferfea do @ w6 du % w@r fam w0 8k

Sfaa faswed &1 999 MR :

() g (i) reret

(b) wraferar (i) worfwdw

(c) FRmerr (i) wHEAEH

(d) =R (iv) faeieter

(1)  (@-@), (b)-(iii), (c)-(iv), (d)-(ii)

(2) (a)-(iid), (b)-(iv), (©)-(ib), (d)-(1)

() @), (b)-(1), (¢)-(iii), (d)-(ii}

@) (a)-(iiD), (b)-(iv), (c)-(1), (d)-(ii)

e & i @ wrolt fymed ey a@ oof wEa

g7

(1) wrfwed

(2) uAferer

(3) =T THEAEH

(4) Tt

TH Jhfal Feil § Sgell @ TeuN & fag g

ol sifvmeet & T & @5 § -

(1) s=ie (2) uHER

(3) = 4 wE

o aifdter Soamell @ S fafdte weol &

Y e w5 SR faem & a9 St

ge dfy (i) USTEr BifymEERT @
g ¥ SigHl uXd
T E

e w iy (i) o= Hiyrpret §
AT & g
I Ao §

S d@f (iii) Suemen HifdrEnrat F
wal ¥ fa &
e F T
HIUY TR E

e i (iv) H@H SRt &
I s
AT @ 9 §uR
i BTl ¢ |

(1) (@), (b)-(1), ()-(v), (d)-(ii)
2)  (@-(v), (b)-(id), (c)-D, (d)-(iD)
() @-(@), (b)-(iv), ()-(D), (d)-(iii)
(@) @-v), (b)-(i), (-, (d)-(iii)

Hindi+English ]

31

110

111

112

113

(a)

(b)

©

(d

Match the following genera with their
respective phylum :
(a) Ophiura
(b) Physalia

(i) Mollusca

(ii) Platyhelminthes
(c¢) Pinctada (iii) Echinodermata
(d) Planaria (iv) Coelenterata
Select the correct option :

1) @-G0), (b)-(ii), (©)-Av), (d)-(i)

@) ()id), (b)-(iv), (©)-(iD), ([d)-()

B) @-Giv), (0)-G), (©)-Gid), (d)-(ii)

4) (@-id), (b)-(v), (c)-(1), (d-(11)

Which of the following animals are true
coelomates with bilateral symmetry ?

(1) Platyhelminthes

(2) Annelids

(3) Adult Echinoderms

(4) Aschelminthes

The contrasting characteristics generally in a
pair used for identification of animals in
Taxonomic Key are referred to as :

(1) Doublet (2) Alternate

(3) Lead (4) Couplet

Match the following cell structure with its
characteristic feature :

Tight junctions (i) Cement
neighbouring
cells together to
form sheet

Adhering (ii)) Transmit

junctions information

through chemical
to another cells
Establish a
barrier to prevent
leakage of fluid
across epithelial
cells
Cytoplasmic
channels to
facilitate
communication
between adjacent
cells

(iii)

Gap junctions

Synaptic (iv)

junctions

Select correct option from the following :
(1) (@)-Gid), (b)-(i), (©)-(iv), (d)-(ii)
@) @-Giv), (b)-Giid), (©-) (@i
@) (@), B)-Gv), (©)-(i), (d)-(iii)
@) (@)-(iv), (b)-(i), (©)-(1), (d)-(iii)
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e & o9 o wuw sE ® 7

(1) T SR I 9 foaage % 53 @s
¥ Suitea iR ¥ |

a1 fueaee & ydE oS # 9WE
SiETgE® B ¥ |

foeraee o divie gite Bt & fvwenl ganfean
T UY g awar i Bkl ¥
Ba% w4l Y Y fidoed ¥ B3 wd uas
©s ¥ Sufterd gy ¥ |

@)
€)
4

Teh ETA HIRTRT & HIFY BRI Afiema de
7R ¥ ?

(1) ol e

Q) T

(3) g

(4) TiesaRARg

Fad o suRua i wadwsall §XamTd fohes
afthy Gowuor & W &7

(1) RNA (2) tRNA

(3) wém dwww  (4) mRNA

W e ey HEw 70 S TEEEW B9 € 39

e O ¥ B9 o Hme o SURYd B ¥ 7

(1) f& o=t @1 DNA St s el o §8
TAT |

(2) fx T ® g9 DNA &t 5™ oA &
g AT E

(3) % & & DNA &l 9EF %e &
T E |

(4) & wg® & ga 79 DNA |

arefgE frwret—1 % gy IO Sl wimene

i

(1) T g @ o § SLUA.C. @l A
TET BA & |

(2) it g @ gE § SLUA.Q. S A
=R IET BT T

(3) E.TA.T. BN A WD BITH B S ST
% SYET B §

(4) TR TS B O § SLUA.G. @B A
T A 7
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Which of the following statements is

INCORRECT ?

(1) A pair of spermatheca is present in the
6% segment of female cockroach.

(2) Female cockroach possesses sixteen

ovarioles in the ovaries.

Cockroaches exhibit mosaic vision with

less sensitivity and more resolution.

A mushroom-shaped gland is present in

the 6th-7th abdominal segments of male

cockroach.

3)
)

Which of the following cell organelles is
present in the highest number in secretory
cells ?

(1) Endoplasmic reticulum

(2) Lysosomes

(3) Mitochondria

(4) Golgi complex

Non-membranous nucleoplasmic structures in
nucleus are the site for active synthesis of
(1) RNA (2) tRNA.
(3) protein synthesis (4) mRNA

Which of the following nucleic acids is

present in an organism having 70 S ribosomes

only ?

(1) Double stranded DNA enclosed in
nuclear membrane

(2) Double stranded circular DNA with
histone proteins

(3) Single stranded DNA with protein coat

(4) Double stranded circular naked DNA

After meiosis I, the resultant daughter cells
have

(1
@)
©))
(4)

same amount of DNA in comparison to
haploid gamete.

four times the amount of DNA in
comparison to haploid gamete.

same amount of DNA as in the parent
cell in S phase.

twice the amount of DNA in comparison
to haploid gamete.
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fedarmaa g & ?

(1) IUDs it # ypervjett & waor ¥ ghg
H €

TUDs grwessii= &l U <ol & |

IUDs & T&% ¥ SEW & S1§ FioeasT
FH B AEITBAT T BT |

IUDs 9Mraa: SYanhdl R @ & sl
ST 2

)
3)

)

e A B9 99 i O fasiva: = e
B yIfag & B 7

(1) AIDS ©d ggasmg—sr

(2) waffEgar Td AIDS

(3) «fs v wd agasia—a

(4) Fuftehra wet st afad

qSE % T HH B TIT BT |
(1) Fgwwes — RF — goe wmE
— TS — BivE e (FewE) —
iR faier — o gie
THETTT — THG WA — R
— gHA — HifdEn Edmr — B
e (feem) — ot gie
TEEHE —> TG WA —> R
— A — B AR (fFEwT) —
v fddimr — sfv gie
TEGT —> THE WA —> R
— HA — DI 9 (fFee) —
3T gRe — ifdrer faadimTor

€))

€)

4

ot & e s grama vihad T T S
whreed <9 % g SatEr ® 7

(1) SRS ) fefmEs

) w=ERw (4) wefrs

aIcte aeh o dra wrareer X ST qeah! b Ry e

BT Fife -

(1) i wreren % LH &1 X 3tiies &ien & |

(2) U yreren ®§ FSH w§ LH ! &1 @< &9
BT ¥ |

(3) ciskert & 9] I sfeT ¥ TEH wd ¥ |

(4) g wrerem ¥ FSH @1 &@¢ oifus 89an & |
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Which of the following is a correct

statement ?

(1) IUDs increase phagocytosis of sperms
in the uterus.

(2) IUDs suppress gametogenesis.

(3) IUDs once inserted need not be
replaced.

(4) TUDs are generally inserted by the user

herself.

Which of the following sexually transmitted
diseases do not specifically affect
reproductive organs ?

(1) AIDS and Hepatitis B

(2) Chlamydiasis and AIDS

(3) Genital warts and Hepatitis-B

(4) Syphilis and Genital herpes

Select the correct sequence of events.

(1) Gametogenesis — Syngamy —
Gamete transfer — Zygote — Cell
division (Cleavage) — Cell
differentiation — Organogenesis.
Gametogenesis — Gamete transfer —
Syngamy — Zygote — Cell
differentiation — Cell division
(Cleavage) — Organogenesis.
Gametogenesis — Gamete transfer —
Syngamy — Zygote — Cell division
(Cleavage) — Cell differentiation —
Organogenesis.

Gametogenesis — Gamete transfer —
Syngamy — Zygote — Cell division
(Cleavage) — Organogenesis — Cell
differentiation.

2
)

“4)

Which of the following hormones is
responsible for both the milk ejection reflex
and the foetal ejection reflex ?

(1) Oxytocin (2) Relaxin

(3) Estrogen (4) Prolactin

No new follicles develop in the luteal phase

of the menstrual cycle because :

(1) LH levels are high in the luteal phase.

(2) Both FSH and LH levels are low in the
luteal phase.

(3) Follicles do not remain in the ovary after
ovulation.

(4) FSH levels are high in the luteal phase.
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124 smefern ® fgam oe s & T # @8
ffbreeand gew ¥ |
39 T B e B B §
(1) =wE fae™
(2) sfErt faem
(3) o fafeea
4) sy fawm

125 w9 - [ & Ru ™ sagal &1 9 — I & sragat
% g frem ife ofk sfaa fee & @97
BT |
w\ -1 w -1

(a) XX-XO feim (i) =it figm
frator feaffy

(b) XX-XY e (i) wmEr fqwAgTESD
fratror fepafafy

(c) FEEET-45 (iii) feser

(d) ZW-ZZ fw (iv) AR gHgHE
frertor Reanfaty

(1) (@)(iid), (b)-(iv), (c)-(3), (d)-(ii)
(2) (@-@v). (b)-(ii), (c)-(D), (d)-(iii)
() @-(i), (b)-(iv), (©)-(1), (d)-(iii)
4 @-@, (b)-(v), (0)-(i1), (d)-(ii)

126 =1 DNA % @s BRT sated mRNA @71 &9 #1
7

3" ATGCATGCATGCATG 5'
5' TACGTACGTACGTAC 3'

T Y
BT T
(1) 3' UACGUACGUACGUAC 5'
(2) 5" AUGCAUGCAUGCAUG 3’

(3) 3' AUGCAUGCAUGCAUG %'
(4) 5" UACGUACGUACGUAC 3'

= RNA i@l &7 39% STjeeEd SdeEl &
qry A A R g fyeer w1 T aifg

(a) RNAWRMI (i) tRNA
(b) RNA GRS (i) rRNA
(c) RNA widwt= [T (iii) hnRNA

Fre % & ofm fer IR
(1) (@), (b)-(iii), (c)-(i)
@ (@), (b)-(ii), (c)-(i)
(3) (@), (b)-(iii), (o)-(i)
@ (@)-G). (b)-(ii), (o))
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127

124 In Australia, marsupials and placental
mammals have evolved to share many similar
characteristics. This type of evolution may
be referred to as -

(1) Cyclical Evolution
(2) Convergent Evolution
(3) Adaptive Radiation
(4) Divergent Evolution

125 Match the items of Column - I with
Column - II :
Column - I Column - II
(a) XX-XO method (i) Turner's
of Sex syndrome
Determination
(b) XX-XY method (i) Female
of Sex heterogametic
Determination
(c) Karyotype-45 (iii) Grasshopper
(d) ZW-ZZ method (iv) Female
of Sex homogametic
Determination

Select the correct option from the following :
(1) (a)(iii), (b)-(iv), (¢)-G), (d)-(ii)
2 (@)-(iv), (b)-(ii), (¢)-(1), (d)~(iii)
() (@-(iD), (b)-(iv), (e)-(1), (d)(ii1)
4 (@-D, (b)-(v), (c)-(ii), (d)-(iii)
What will be the sequence of mRNA
produced by the following stretch of DNA 7

3' ATGCATGCATGCATG 5' TEMPLATE STRAND
5'TACGTACGTACGTAC 3' CODING STRAND

126

(1) 3' UACGUACGUACGUAC 5'
(2) 5' AUGCAUGCAUGCAUG 3
(3) 3' AUGCAUGCAUGCAUG 5'
(4) 5" UACGUACGUACGUAC 3

127 Match the following RNA polymerases with
their transcribed products :

(a) RNA polymerase 1 (1) tRNA
(b) RNA polymerase 11 (i) rRNA
(¢) RNA polymerase III (iii) hnRNA

Select the correct option from the following :
(1) (@-@D), (b)-(iii), (c)-(i)
(2) (@)-(ii), (b)-(ii), (c)-(1)
(3)  (@-(), (b)-(iii), (c)-(ii)
@ @-), (b)-(i), (0)-(i1)
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128 @ 7T S®iT & 9 & S HrEl o e e

i feeea &1 7@ Bl
(a) & iy &t (i) aw waUl @
L ST NSRRI
(b) wHIE Hetfa (i) Haw T BT
RIED KERERICE
(c) T Iy @ (iii) afeaw smw &
ARIET gsT SEECTRE DG
ST
(d) T danea Afwer  (v) oA, S 9"
HIETE qreehl Bl
EYKERI

(1) @-@), (b)-(iv), (c)-(ii), (d)-(iii)
) @-v), (b)-(i), (c)-(iii), (d)-(iD)
(3)  (a)-(i), (b)-(iii), (c)-(i), (d)-(iv)
(4) @-@i), (b)-(iv), (9)-(1), (d)-(iii)

129 w9 - 19 f¥uw mu sragal @ w@w — 11 & orewat
¥ Ty fem Hifvi ot sk faees &1 aaw

HINY |

w9 -1 wy - 11
(a) deEEe (i) forekm ofemee
(b) wWeRReREET (i) uRfweT
() Too® (iii) TreTE

(d) e Herwers (iv) Treie Raa

(D) (@), (b)-(iid), (c)-(ii), (d)-(1)
(@) @-Gv), (b)-(id), (c)-(iid), (d)-(i)
(3)  (@)(iii), (b)-(iv), ()-(ii), (d)-(1)
(4)  (@-(id), (b)-(i), (c)-(iv), (d)-()

130 f= & @99 e fagma: s % dge s91q
TN Td 99w ger ¥ e satert € 7
(1) Zwafaw Bl od S
(2) forrer dyafa wa degan
(3) e el wd sty
(4) v BT g A o @i

F1 _ Hindi+English ] 35

128 Match the following parts of a nephron with

(a)
(b)
©

(@

129

(a)
(®

(©
(D

130

their function :
Descending limb (i) Reabsorption of

of Henle's loop salts only
Proximal (i) Reabsorption of
convoluted tubule water only
Ascending limb (iii) Conditional
of Henle's loop reabsorption of
sodium ions
and water
Distal convoluted (iv) Reabsorption of
tubule ions, water and

organic nutrients

Select the correct option from the following :
1) @-@1), (b)-(iv), (0)-(ii), (d)~(ii1)
(2) @-(1v), (b)), (0)-(iii), (d)-(i1)
(3) @-@), (b)-(iii), (c)-(i1), (d)-(iv)
4 (@-(i), (b)-(iv), (0)-(1), (d)-(iii)

Match the items in Column - I with those
in Column - II :

Column - I Column - II
Podocytes (i) Crystallised
oxalates
Protonephridia (ii) Annelids
Nephridia (iii) Amphioxus
Renal calculi (iv) Filtration slits

Select the correct option from the following :
(1)  (@-(v), (b)-(iii), (c)-(i1), (d)-(1)
(2) (a)-(iv), (b)-Gi), (c)-(iii), (d)~(i)
(3) @-(i), (b)-(iv), (0)-(ii), (d)-(1)
@) (@)-(ii), (b)-(id), (c)-(v), (d)-({)

Which of the following receptors are
specifically responsible for maintenance of
balance of body and posture ?

(1) Tectorial membrane and macula

(2) Crista ampullaris and macula

(3) Basilar membrane and otoliths

(4) Hair cells and organ of corti
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fmdarmam e W ¢ ¢

(1) 9 Sga Saedle B § ol R @
Do A ST & MU SOERy € ¥
Aot frwaem & AiEaslt &1 S e §
3R T Wgae wlear |

dfeee & REar fawa G € S gea
e e e e fopeedl B & g
L

BT B T Hewrel & fagdemer @
AFBal s MR SIRA A9d ga T
g

e it} &t S atfedy & Ty e sivg

& sfaa faemes &1 oo ST |

fergdf dfy (i) oS ¥ wd Td
AT & HeA

(i) weww wd iR
% A

(iii) ®wE & 7

(iv) gaw@ ok e
& HEg

(1) (a)-Gv), (b(-(ii), (c)-(iii), (d)-(i)
2 (@)-(), (b)-(iii), (c)-(i1), (d)-(iv)
() (a)-(ii), (b)-(v), (0)-(ii), (d)-(i)
(@) (2)-(v), (b)-(), (0)-(ii), (d)-(iii)

e F @iar o wykan e ¥ ?

(1) sRegfa (2) wmee
) wrwtmr akm @) st

H wersT, Forga @t e wa s wwa A
Y Tepdan fepansfierar amfaa &t & 2

(1) ofrgas A

(2) uya Iy AR

(3) awwE Tty

(4) b vt

Fr= ® o g9 YvumREs 3t @ dumRise
Thl & A % foe sdiftm son ?

(1) afRg § Ca?t wr § a4

(2) T ¥ Ca?" wt & atfaan

(3) ufteg faerfm D & @ & &

(4) T H Ca?t @ § %

@
€)

“)

HeT "y

g df
ECII|
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(a)

(b)
©
(d)

133

134

135

Which of the following statements is not
correct ?
(1) Rods are very sensitive and contribute
to daylight vision.
(2) In the knee-jerk reflex, stimulus is the
stretching of muscle and response is its
contraction.
An action potential in an axon does not
move backward because the segment
behind is in a refractory phase.
Depolarisation of hair cells of cochlea
results in the opening of the
mechanically gated potassium-ion
channels.

3

“

Match the following joints with the bones
involved :

Between carpal
and metacarpal
of thumb
Between Atlas
and Axis
Between the
Carpals

Between Humerus
and Ulna

Select the correct option from the following :
(1) (@)-Gv), (b(-Gi), (©)-(iid), (d)-()
@ (@-G), (b)), (¢)-(ii), (d)-Giv)
3) (@), (b)), (©)-(i), (d)-(i)
4  (@-1v), (b)-(1), (o)D), (d)-(i11)
Which of the following diseases is an auto-
immune disorder ?

(2) Gout

(1) Osteoporosis

(3) Myasthenia gravis (4) Arthritis
Artificial light, extended work-time and
reduced sleep-time disrupt the activity of -
(1) Adrenal gland

(2) Posterior pituitary gland

(3) Thymus gland

(4) Pineal gland

Which of the following conditions will
stimulate parathyroid gland to release
parathyroid hormone ?

(1) Fall in bone Ca'? levels

(2) Rise in blood Ca*? levels

(3) Fall in active Vitamin D levels

(4) Fall in blood Ca*?2 levels

Gliding joint (i)

Hinge joint (ii)
(iii)

@iv)

Pivot joint

Saddle joint
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wrdfew T E, H-doREl ¥ g R e ® 7

(1) TTeT THUEA o TEART Sl il
¥l

(2) ¥ wga & Uugw s afukeane ¥ 0
Tewd & &9 H B B ol

(3) = ST ramsliear & R arg sl @
I CRDET I I

(4) 3 (reafes wE), TITSTEAl & HEHL 99
R

i faferrr it e @ o e A ofiT i
eyl % 9 BT § P

(1) qaferen 1t graug seer § osi o
& erdafy e & 9

wataen | % weds sreEen H Remia goest
¥ sredfy sEhvREl & 99

wartaeen 1 % grE ST A faerg qoRgs
% ordafy SRl & 99

qaraeT [ &f TWEug STawen # s oA
& reafd ARG & S

)
&)

“

TEE @ feaat @Yae @t gie & % fiig
IuaTT fpar ST g ?

(1) zEuffeaies (2) ST

(3) smTAT 4) W=

frefafas & ¥ ®ar ugwl ¥ fet % dfeg
AT BT TH AHT ¥ 7

(1) foreelt g0 80 & |

(2) T B SEIH Al § |

(3) wiwer yavir % frew ar § |

4) =g Wwa

frafafea & & F9—a1 SlEw 9o % TEEE A
AEEH & SUaaT BT 8 7

(1) Radfyea () TEZEEE

(3) TEEETET (4) TEZwEY
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Prosthetic groups differ from co-enzymes in
that -

(1) their association with apoenzymes is
transient.

they can serve as co-factors in a number
of enzyme - catalyzed reactions.

they require metal ions for their activity.
they (prosthetic groups) are tightly
bound to apoenzymes.

@

3
%)

Crossing over takes place between which

chromatids and in which stage of the cell

cycle ?

(1) Non-sister chromatids of homologous
chromosomes at Zygotene stage of

prophase L

(2) Non-sister chromatids of non-
homologous chromosomes at Pachytene
stage of prophase 1.

(3) Non-sister chromatids of non-
homologous chromosomes at Zygotene
stage of prophase L.

(4) Non-sister chromatids of homologous

chromosomes at Pachytene stage of
prophase 1.

“Ramachandran plot” is used to confirm the
structure of

(1) Triacylglycerides (2) DNA

(3) RNA (4) Proteins

Which of the following is not a featurc of
active transport of solutes in plants ?

(1) Occurs through membranes

(2) Requires ATP

(3) Occurs against concentration gradient
(4) Non-selective

Which of the following bacteria reduce nitrate
in soil into nitrogen ?

(1) Thiobacillus (2) Nitrosomonas

(3) Nitrobacter  (4) Nitrococcus

[ Contd...
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I TN T YIS @l 1491 1 8111 A Tep I_q
BT B T STTITGN §9 A T AT E P
(1) T T S&E BIYHT & /T Bl ST BT
(2) @ % gera feddl W fRaw # & svw |
(3) W& & 98 I famey § m |

(4) & BT IETT BB T TTET BT AT T |

TEY ¥ 9EY IneEN e o (3.3
FE Ryg T & ?

(1) wgRiiisan &I oiaie R o

(2) it e wm a

(3) gl & onuEl A

(4) wrzdrmizar B Ty e §

¥ ol wa wed ¥ wrafie CO, TR B ¥ ?
(1) SERRAE T5ede

(2) wf¥=al (Rubisco)

(3) leEfifes s

(4) wremRaEis v

TR % ST H a4 & ST @ e U §Ed
SUanll gaie & 1 gs m e ¥ ?

(1) ST &1 99F &7 fean oar & af uned
wivatel @ ghg ¥ sead Bl ¥
e waes ® 0 & 3

el ST ®7 Aewar ¥ 3T sTheg @Y
T )

ST g o qe0 ahqal % fre 1 Tear
4

Teh e A Quieidde? & ieas § oSBT
&1 g+ ferar ofiT yeer @ fiee @ €t frefea
B GaE qT T | San] ged: fee of weh
WU W ?

(1) -Eh ot fi weryr @ &

(2) & R Ay B AR

(3) T &R T weATAT B AR

(4) <rger A GRM) &R T T @ e

2
&)

“4)

T @ BEE B IGER oM $ g Frefated &
¥ aF ¥ gfe Tsa @ feee s Ty ?
(1) e (2) wEHEAN

(3) uftel= 4) o=
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What will be the direction of flow of water
when a plant cell is placed in a hypotonic
solution ?

(1) Water will flow into the cell.

(2) No flow of water in any direction.

(3) Water will flow in both directions.

(4) Water will flow out of the cell.

Where is the respiratory electron transport
system (ETS) located in plants ?

(1) Inner mitochondrial membrane

(2) Intermembrane space

(3) Mitochondrial matrix

(4) Outer mitochondrial membrane

143 *In Hatch and Slack pathway, the primary CO,

144

145

146

acceptor is -

(1) Phosphoenol pyruvate
(2) Rubisco

(3) Oxaloacetic acid

(4) Phosphoglyceric acid

Removal of shoot tips is a very useful

technique to boost the production of tea-

leaves. This is because :

(1) Effect of auxins is removed and growth
of lateral buds is enhanced.

(2) Gibberellins delay senescence of leaves.

(3) Gibberellins prevent bolting and are
inactivated.

(4) Auxins prevent leaf drop at early stages.

One scientist cultured Cladophora in a
suspension of Azotobacter and illuminated
the culture by splitting light through a prism.
He observed that bacteria accumulated mainly
in the region of :

(1) Orange and yellow light

(2) Blue and red light

(3) Violet and green light

(4) Indigo and green light

In order to increase the yield of sugarcane
crop, which of the following plant growth
regulators should be sprayed ?

(1) Gibberellins (2) Cytokinins

(3) Ethylene (4) Auxins
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ST SHEBIIT BT SHRT B 5T SLUAT. &
Guel &l gud HE H R F 9 9 wew 3
™ E T ¥ T wOR & geg |

(@) SLTA.N. FHOTHS SMAY I AU ¢ FHWY
W ST W TS R A IO W ® |
SLUA.U. & GUS S| B e b GHMNN
Tod €, 5@ & giEar SLuY & T @
g & B |

.G & IS & Y e Bier g
39 BT 39% T B U Sa 8§ @
B

9E TG, B A, AT F S BT
R & @ o7 GHAr ¥

Frfafga fompeal § @ @@ 3¢ gg -

(1) (b), (c) 3R (d)

2) (a), (b) AR (d)

(3) (a), (©) 3R ()

4 (a), (b) 3T (c)

qE BTG TET & 9 SLUA.U. % ot Rl
¥ s & Safid s s s € 7

(1) wegfmes  (2) Wi

() duAu T (4) TERee

AR UGS, (RNAI) § Reeer Iunr &t M
®I T (Argeig) e R wmar & °

(1) ss-RNA (2) ds - DNA

(3) ds-RNA  (4) ss-DNA

AT ST (ga) feaes fog suam e s
¥

(1) us R Gaw § SR B & MY 0
YT JFEX H T BT B W
TUEBIY % fAT JRISFEA TIgw &l SuarT
B FY TH O I TH S bl R
FHE & 0
IREaraRal B g9 B N gEEal B
& forg, frad o wufala @ greitaa fmar
ST 9%

TH S WG N Uk 3ieed @@ & Y e
B TEgN & & g

afyeet =l § ureul ofX Sge @ 9gd W UEl
wifera] € S wEl o WY q¢ w1 Uiy s §)
TS STiral @0 9 B8l o & ¢

(1) daeug 2) @EA

(3) wnfr (4) orgRm
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3)

4)
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Given below are four statements pertaining
to separation of DNA fragments using Gel
electrophoresis. Identify the incorrect
statements,

(a) DNA is negatively charged molecule
and so it is loaded on gel towards the
Anode terminal.

DNA fragments travel along the surface
of the gel whose concentration does not
affect movement of DNA.

Smaller the size of DNA fragment,
larger is the distance it travels through
it.

Pure DNA can be visualized directly by
exposing to UV radiation.

Choose correct answer from the options given
below :

(1) (b), (c) and (d)

(2) (a), (b) and (d)

(3) (@), (c) and (d)

(4 (@), (b) and (¢)

(b)
©

(d)

An enzyme catalysing the removal of
nucleotides from ends of DNA is:

(1) Exonuclease (2) Protease

(3) DNA ligase (4) Endonuclease

In RNAI, the genes are silenced using :
(1) ss - RNA (2) ds - DNA
(3) ds - RNA (4) ss-DNA

A selectable marker is used to :

(1) select a suitable vector
transformation in a specific crop

(2) mark a gene on a chromosome for

3)

for

isolation using restriction enzyme
help in eliminating the non-
transformants, so that the transformants
can be regenerated

identify the gene for a desired trait in
an alien organism

(4)

Western Ghats have a large number of plant
and animal species that are not found
anywhere else. Which of the following terms
will you use to notify such species ?

(1) Threatened (2) Keystone

(3) Endemic (4) Vulnerable
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(1) &rwisdg e ‘ersl ¥ |
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(4) wTaTEEE o ‘@ ¥ |

i wexg & a9 SME & [T ST,
AR 3T ST &Y T Rafyerar & emwor %
T HET WA & 7

(1) Saguad
(2) FrE—arauT
(3) wmEmEE
4) st

@iRe® F$ & e & fg Frafafeg & @
HE Th YA qeie & 7

(1) vies

(2) g sr@afe

(3) oo &I oTutafy § &

(4) ¥ EaE & 500 WY T WE W W

freafoRaa gl # fre @ g § 9% wewitT &
SEREIOT T g9 ?

(1) o TIHE ST e 7B

(2) WET T T SR @ S

(3) qiifes ot ¥ g8 v T 9% Swar
(4) UYS & T A TR ST A §C Y

it U ©d B w9 999 9% Tg A § R
@ s o Frafafed ¥ @ S S o &
AT ® 7
(1) orwaan
(3) oy

(2) waUEr
4) s
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Which of the following statements about
ozone is correct ?

O
@

Tropospheric ozone is ‘good’.

Stratospheric ozone protects us from UV
radiations.

Tropospheric ozone protects us from
UV radiations.

Stratospheric ozone is ‘bad’.

€)

4)

Exploration of molecular, genetic and species
level diversity for novel products of economic
importance is known as :

O
@)
)
4

Bioremediation
Bioprospecting
Biopiracy
Bioenergetics

Which of the following is an innovative
remedy for plastic waste ?

(1) Polyblend

(2) Electrostatic precipitator
3)
(4)

Burning in the absence of oxygen

Burrying 500 m deep below soil surface

Between which among the following, the
relationship is not an example of
commensalism ?

(D
ey
©)
“)

Sea Anemone and Clown fish

Female wasp and fig species

Orchid and the tree on which it grows
Cattle Egret and grazing cattle

If an agricultural field is liberally irrigated
for a prolonged period of time, it is likely to
face a problem of :

(1) Acidity (2) Salinity
(3) Metal toxicity (4) Alkalinity

[ Contd...



157

158

159

160

(a)
(b)
(©)
(d)

F1

freafafega & € @t9-w1 waw ICBN
(FREd ) e & Reg & ?

(1) &=nive T & dfest § forar smar & ofiX
7= e e i |

9T A ST ST T BT B SAET § S
HY Torar sn =iy |

T ¥ @ denfie M @ Taifea fean
T 91T |

e ST %7 Teb €97 - & U Ta Wi
Yhd UT BT ¥ |

@)
€)

4

et ¥ ure TE A (7 & ) 9w e
¥ grar & fred

(1) W Hag d gaq AT [T $ |
(2) TN wam Wed Jo TR B § |
(3) orfpa Treely raeT &)l ¥

(4) o g E W B & |

Frefifaq ¥ 9 BT wEH T ¥ 7

(1) vIEHY & Gah Ges AT Heawmm & |
(2) wgHT, TGN F OB GAB ol £ |
(3) wEHT TR & H TE 9 |

(4) EHT BT YA TSH HABIN BHEAT § |

i [ % wial ! wiew 11 % STa @l & 91
gt @it |

Fiem I @t 11

TeIfeed G ™A

DB R S (i) wg e
PréireTT (iii) Rz gl & st
LIESIECRAIEE (iv) waol &=

i R T Pl ¥ @ W s R

(1) (@D, (b)-(iv), (e)-(i), (d)-())
2y @-(iD), (b)-(iv), (o)-(ii), (d)-()
B3)  (@-@v), (b)-(D), (c)-(iid), (d)-(ii)
(4) (@D, (b)), (0)-(i1), (d)-{v)
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(b)
©
(@)

Which of the following is against the rules

of ICBN ?

(1) Scientific names are in Latin and should
be italized.

(2) Generic and specific names should be

written starting with small letters.

Hand written scientific names should

be underlined.

Every species should have a generic

name and a specific epithet.

3)
(4)

Mad cow disease in cattle is caused by an
organism which has :

(1) free RNA without protein coat

(2) free DNA without protein coat

(3) inert crystalline structure

(4) abnormally folded protein

Which of the following statements is correct ?
(1) Fungal component of lichens is called
phycobiont.

Lichens are not good pollution
indicators.

Lichens do not grow in polluted areas.
Algal component of lichens is called
mycobiont.

2)
€)
4)

Match the organisms in column I with
habitats in column II.

Column I Column II
Halophiles (i) Hot springs
Thermoacidophiles  (ii) Aquatic
environment
Methanogens (iii) Guts of
ruminants
Cyanobacteria (iv) Salty areas

Select the correct answer from the options
given below :

(1) @-GiD, (b)-{v), (©)-(b), (D-O)

(2) (@-Gi), (b)-(v), (c)-(iid), (d)-(1)

(3) @-(v), (b)), (c)-(iii), (d)-(ii)

@) @-@), (b)-(), (¢)-(iii), (d)-(iv)
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S E 7
(1) gee=ifrar
() ww

(2) @rgiiE
4) =T A

T % BT AU T TSI had eIl & ?
(1) cimdsh afew (2) fadws Afew
(3) undw afewm  (4) e At

s @ive T 92 amn fieEd o feaw

T E ?

1) @ 2) Rradfrar

(3) s 4 Tag

@i 1 &t i 11 % o 981 gafaa sifig |

Fiew 1 Fiem 11

el IYHTT (1) YR @ gywu

NEEEAVS (i) = i SR
TeEt Bl T

@ (iii) eEBMREN 3
TEHIANS Bl
fommfor

TEEE (iv) gt &1 uraw

e e o fyeedt ¥ @ gafma =€ st g

(1) @-(id), (b)-(ii), (c)-(v), (d)-()
2 (@-@), (b)-(ii), (c)-(iv), (d)-(iii)
(3 (a)-i), (b)-(v), (0)-(id), (d)-())
4 (@-(v), (b)-(ii), (c)-(1), (d)-(i1)
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(©

(@

In the dicot root the vascular cambium

originates from :

(1) Parenchyma between endodermis and
pericycle

(2) Intrafascicular and interfascicular tissue
in a ring

(3) Tissue located below the phloem

bundles and a portion of pericycle tissue

above protoxylem.

(4) Cortical region

Which of the following shows whorled

phyllotaxy ?

(1) Alistonia

(3) Mustard

(2) Calotropis
(4) China rose

Regeneration of damaged growing grass
following grazing is largely due to :

(1) Intercalary meristem

(2) Secondary meristem

(3) Lateral meristem

(4) Apical meristem

Bicarpellary ovary with obliquely placed

septum is seen in :
(2) Sesbania

(1) Solanum
(3) Brassica (4) Aloe

Match the column I with column IL

Column I Column II

Golgi apparatus (i) Synthesis of
protein

Lysosomes (ii)) Trap waste and
excretory
products

Vacuoles (iii) Formation of
glycoproteins
and
glycolipids

Ribosomes (iv) Digesting
biomolecules

Choose the right match from options given
below :

(1) @-Gii), (b)-Gi), ©-iv), ()

(2) (a)-(1), (b)-(it), (e)-(iv), (d)~(ii1)

() (a)-Gid), (B)-(iv), (c)-(in), (d)-()

4  (@-(v), (b)-Gid), (c)-(), (d)-(i)
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The production of gametes by the parents,
the formation of zygotes, the F; and F, plants,
can be understood using

)
@
3)
4)

Punnet square
Wenn diagram

Pie diagram

A pyramid diagram

Which of the following statements about
methanogens is not correct ?

(1) They grow aerobically and breakdown

cellulose-rich food.
(2) They produce methane gas.
3)

“4)

These can be used to produce biogas.

They are found in the rumen of cattle
and their excreta.

In mung bean, resistance to yellow mosaic,
virus and powdery mildew were brought
about by :

)
@
&)
@

Tissue culture
Hybridization and selection
Mutation breeding
Biofortification

Coca alkaloid or cocaine is obtained from :
(1)
(2)
(3)
4

Erythroxylum coca
Datura

Papaver somniferum
Atropha belladona

Among the following pairs of microbes,
which pair has both the microbes that can be
used as biofertilizers ?

(D
2)
3)
4

Cyanobacteria and Rhizobium
Aspergillus and Cyanobacteria
Aspergillus and Rhizopus
Rhizobium and Rhizopus
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What type of pollination takes place in

vallisneria ?

(1) Flowers emerge above water surface,
and pollen is carried by wind.

(2) Male flowers are carried by water

currents to female flowers at surface of

water.

Pollination occurs in submerged

condition by water.

Flowers emerge above surface of water,

and pollination occurs by insects.

(3)
@

In which one of the following, both autogamy
and geitonogamy are prevented ?

(1) Castor (2) Maize

(3) Wheat (4) Papaya

Maich the placental types (column - I) with
their examples (column - II).

Column - I Column - I1
(a) Basal (i) Mustard
(b) Axile (ii) China rose

(¢c) Parietal
(d) Free central

Choose the correct answer from the following
options :

(1) (@-v), (b)), (©-0), (i)

@ (@-iid, O-(v), ©-0), [@-Gi)

3) (@), (b)), (V). (d)-()

@ @-(), (b)-(ii), (c)-(iid), (d)-(iv)

Which is the most common type of embryo
sac in angiosperms ?

(iii) Dianthus
(iv) Sunflower

(1) Monosporic with two sequential mitotic
divisions

(2) Bisporic with two sequential mitotic
divisions

(3) Tetrasporic with one mitotic stage of
divisions

(4) Monosporic with three sequential

mitotic divisions

From the following, identify the correct

combination of salient features of Genetic

Code -

(1) Universal, Ambiguous, Degenerate

(2) Degenerate, Non-overlapping, Non-
ambiguous

(3) Universal, Non-ambiguous,
Overlapping

(4) Degenerate, Overlapping, Commaless
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Which scientist experimentally proved that
DNA is the sole genetic material in
bacteriophage ?

(1) Hershey and Chase

(2) Jacob and Monod

(3) Beadle and Tautum

(4) Messelson and Stahl

In the process of transcription in Eukaryotes,

the RNA polymerase I transcribes —

(1) rRNAs —28S,18S and 5.8 S

(2) Precursor of mRNA, hnRNA

(3) mRNA with additional processing,
capping and tailing

(4) tRNA, 5 srRNA and snRNAs

In which genetic condition, each cell in the

affected person, has three sex chromosomes

XXY ?

(1) Phenylketonuria

(2) Turner's Syndrome

(3) Thalassemia

(4) Kleinfelter's Syndrome

What initiation and termination factors are
involved in transcription in Eukaryotes ?

(1) P and 7, respectively
(2) o and o, respectively
(3) o and P, respectively

(4) o and B, respectively

Which of the following statements is correct
about the origin and evolution of men ?
(1) Homo habilis probably ate meat.

(2) Neanderthal men lived in Asia between
1,00,000 and 40,000 years back.
Agriculture came around 50,000 years
back.

The Dryopithecus and Ramapithecus
primates existing 15 million years ago,
walked like men.

3)
4
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| Read carefully the following instructions :

Each candidate must show on demand his / her
Admit Card to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, would leave his / her
seat.

The candidates should not leave the Examination
Hall without handing over their Answer Sheet to the
Invigilator on duty and sign the Attendance Sheet
twice. Cases where a candidate has not signed
the Attendance Sheet the second time will be
deemed not to have handed over the Answer
Sheet and dealt with as an unfair means case.
Use of Electronic / Manual Calculator is prohibited.
The candidates are governed by all Rules and
Regutations of the examination with regard to their
conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and
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